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14 You own The Wizard of Oz on DVD which is a gift sent to you from your grandmaother. You are at home on holiday and you have no
Marks: 1 money to go out. You decide to watch the DVD for a second time. The opportunity cost of watching this DVD for the second time
Choose one answer. (O &, is the value of the alterative use of the tirme you spend weatching the DVD
b iz one-half the time of the DD, as this is the second tirme you have watched it.
(& ©. iz zem because you did not pay for the DVD.
& d. iz zem because you don't have money to go out.
(e cannot be calculated, more information is needed.
28 Refer to the information provided in Table 2.1 below to answer the following questions.
i 4 Table 2.1
Adam Eve
Apples 8 10
Oranges 4 5
Refer to Table 2.1. For Eve, the opportunity cost of 4 oranges is
Choose one answer. (O a. 2 apples.
© b4 apples.
© c.Bapples.
© d 15apples
© e 05 apples
3 If Lebanon can produce either 200 bushels of com or 400 bushels of wheat fram a given quantity of resources, and Syria, using the same
Marks: 1 amount of resources, can produce either 40 bushels of com or 100 bushels of wheat, which of the following statements is true?
Choose one answer. (O a. Lebanon has a comparative advantage in the production of both comn and wheat
¢ b. Syria has a comparative advantage in the production of both carn and wheat
& c©. Lebanon has a comparative advantage in the production of corn
(& d. Lebanon has a comparative advantage in the production of wheat
(> e. Sytia has a comparative advantage in the production of com
4 8 If population increases, then far diapers will
Marks: 1
Choose one answer. (O a. demand; shift to the left
© b demand; shift to the right
& c. demand; remain unaffected
& d. supply; rotate outward
& e guantity supplied; rotate inward
- Demand curves are derived while holding constant
Marks: 1
Choose one answer. (O a. income, tastes, and the prices of other goods
b, only income and tastes.
(> c.only tastes and the price of other goods.
O d.income, tastes, and the price of the good.
© e demand curves are drawn ceteris paribus, keeping everything fixed, including price of the good

I Save without submitling H Submitall and finish I

Page: 1 2 3 4 5 6 7 8 (Mext)

(D Moodle Doce for this page

‘MyMuu(Ile » ECON211_mm53_hf18 » Quizzes » Final Guiz Summer 2008 » Attempt 1

“You are lagged in s Marcus Mardanner (Logaut)

ECON211_rmrm53_hila



You are logged in as Marcus Maidanner (Logoutl
Time Remaining

1:03:51

‘MyMomlle » ECON211_mm53_hf18 » Quizzes » Final Quiz Summer 2008 » Attempt 1 Update this Omz—‘

Info | Results | Preview | Edit

This quiz has been locked so that it is only accessible from certain locations. Your computer is not on an allowed subnet. As teacher you are allowed to preview anyway

Note: This quiz is not cunently available to your students

Preview Final Quiz Summer 2008

Startagain

Students will see this quiz in a secure window

Page: (Previous) 1 2 3 4 5 6 7 8 (Mex)

B
Below is a diagram that shows a market for agricultural products. A severe drought has shifted the supply cumve to the left. Quantity
Marks: 1 actually supplied decreased by . consumer surplus changed by . producer surplus changed by . and total farm
revenues changed by
&3
7
. i
5
s
4
3
2
4 D
Quantity
1 3 @ 4 B 6 U E
Choose one anawer. 22,222
bo1,45,1,1
€ 1,3,2,4
4.2,3,3,1.
O e1,4522.1
7 Ifthe equilibrium price of gasaline is $2.00 per gallon and the govermment will not allow oil companies to charge more than $1.00 per
- gallan of gasaline, which of the follawing will happen?
Choose one answer. O . Demand must eventually decrease so that the market will come inte equilibrium at  price of §1.00,
© b, The markst will be in equilibium at = price of $1.00.
© . Supply must eventually increase so that the market wil seme into equiibrium at a price of §1.00.
©  d Anonprice rationing system such as ration coupons must be used to ration the available supply of
gasoline
© e none ofthe above is irue, more information is needed to study if there are substitutes or not
8 Refer to the information provided in Figure 5.13 below to answer the questions that foflow.
Marks: 1 " Jason's preferences and budget constraint.
1004 4
2
£
8
£
£
£
8
k]
5
2
£
=0 150
Mumber of ice cream cones
Figure 5.13
Referto Figure 5.13. The slope of the indifierence curve is the ratio of the
Chaose one answer. () . marginal utlity of ice cream sandwiches to the marginal utlity ofice cream cones
© b, marginal utilty of ice cream cones to the marginal utilty of ice cream sandwiches
© o total utiity ofice sream cones to the total utity of ice cream sandwiches.
©  d total utiity ofice cream sandwiches to the total utility of ice cream cones.
© e none of the above.
9% Assuring that leisute is a nomal good, if an individual's labor supply curve is backward bending, then the
Marks: 1
Choose one answer. O a. income effect outweighs the subsitution effect at higher wages.
© b, income effect is zero
©  c. income effest and the substitution efects ars equal.
©  d substiution effect outweighs the income effect at higher wages
© . workers vill always increase lsisurs regardless of their wagss
0% Use the information provided in Table 6.2 below to answer the questions that follow.
(e 9 Tabls 6.2
Numberol
Techuology  Unils of Capital Employees
16 8
B 12 12
C 8 20
o 6 24
Refer to Table 6.2. If the hourly wags rats is 10 and the hourly price of capital is $50, which production technology should be sslscted?
Choose one answer. O a A
O bB
O c¢C
© 4D
O eBaC
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14 Refer to the information provided in Figure 6.10 below to answer the guestions that follow.
Marks: 1
80eC

few

g

3

£

=]

: 6 80 120
Units of labor
Figure 610

Refer to Figure 6.10. The finm is cumrently along isocost CE. If the price of capital is §30, then the price of labar is

Choose one answer. O a 380
O bSO
O c©84
d. indeterminate from this information.
& 5067

124 Economic costs

Marks: 1
Choose one answer. () a. are the opportunity cast of each factor of production minus any interest charges paid on borrowed
funds

o

b. are equal to total revenue minus economic profit

© ¢ include both a normal rate of return on investrent and the apportunity cost of each factor of production

e

d. are equal to the direct costs of hiring all factors of production

© e bothBand C are true

13 8 Refer to the information provided in Tabie 7.2 below to answer the questions that follow.
e 9 Table 7.2
Numberof
Earuings(pais) TVC MC AVC TrC IC AFC ATC
Q 10
1 50
2 85
3 A6 67
a 300
5 270

Refer to Table 7.2. If Sherry produces four pairs of earrings, her average fixed costs are

Choose one answer. O a. 525

O bo§20

O c84

O

O s
144 Refer to the information pravided in Tabie 1.2 below to answer the questions that follow.
kel Table 7.2

Numb et of
Eauingsipais)  TVC MC AVC TFC TC AFC  ATC

0 10
1 50
2 o5
3 4667
a 200
5 270
Refer to Table 7.2 If Sherry produces one pai of eatfings, her total variable costs are
Choose one answer. ) a. $150
O b.$100
O cgE0
O 4.8
© e indsterminate fiom this information.
15 Refer to the information provided in Tabfe 7.2 below to answer the questions that follow.
e Table7.2
Nuwberof
Eauingsipaiss) _ TVC MC AVC TFC TC _AFC _AIC
0 oy
1 50
2 o5
3 4667
4 300
5 270

Refer to Table 7.2 Assume that Sherry's Earrings is producing in a perfectly competitive market and the market prics for a pair of
earings is $60. To maximize profits Sherry should produce earings
Choose one answer. © . three pairs

© b five pairs

© ¢ four pairs

O d two pairs

© e onepair
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16 & Refer to the data provided in Table 8.1 below to answer the questions that foilow.
b § Table 8.1
q TFC TVC IC MC AVC AIC
U 5% 50 BW =
1 50 20 70 20 70
2 B0 30 80
2 50 45 95
a 50 62 112
5 50 0 140
é B0 132 182
7 50 18 236 54 26.57 3371
Refer to Table 8.1. The market price is 542 and this firm is producing four units of sutput. Which of the follawing weuld you recommend to
this firm?
Chonse one answer. () a. Increase outpt to seven units so that price is less than marginal cost
© b Reduce price to $17, 50 that marginal cost will equal marginal revenue at 4 units of output
© . Continue producing four units of output, because the firm is able ta make an econormic profi
©  d. Increase output to six units, 5o that marginal cost squals marginal revenue
© eI cannot recommend anything to this firm bscause the firm is operating in the short un
17 & Which of the follawing is an example of economies of seale?
Marks: 1
Choose one answer. () a. To attract firms to locate in its state, the state government reduced the tax rate that businesses must
pay on its profits, thus lowsring the costs to firms who locats in the state
© b, Afim increases in size and is therefore able to lower its health insurance costs because as the size of
the group insured increases, the premium per person decreases substantialy.
© ¢ As the computer industry has expanded, the number of trained computer
has also increased, which has caused the salaries of computer programmers 1o increase
©  d. As the demand for calculators increased, the price of calculators actually fel
© e As the fim increases the number of machines, the average cost decreases
16 £ Refer to the information provided in Figure §.1 below to answer the questions that foifow.
Marks: 1
154
313
in
] 9
87
& aQ
0
369121617 4
Bushels of wheat
Figure 6.1
Refer to Figure 6.1, This farmer's fixed costs are
Choose one answer. () a §24
O b8
O cw
O d¥8
O e#2
19 £ Refer to the information provided in Figure 9.3 below o answer the questions that folfow.
Marks: 1 The labor market A representative firm
MRP (2t K;)
®
€
&
2
=4
Figure 9.3
Refer to Figure 9.3. The market wage is initially Yp and the firm is initally at Point A. Labor supply decreases from Sy to Sy, ifthe firm
does not change the amaunt of capital it employs, the firm will move to Foint to maximize profits
Choose one answer. O a. C
o b8
O cE
O dF
O eCuwE
E Li's Potato Chigs is a perfectly competitve firm currently employing 30 workers. The marginal revenu preduct of the 30th worker is
- §7.00 per hour. The wage rate is $5.00 per hour. To increase profits, this firm should
Chooss one answer. () a. decrease employment until the MRS of labor equals §8.00
© b, increase the price of potate chips so that the marginal revenue product increases 1o $8.00 per hour.
© ¢ continue hiring 30 workers because the firm eams a surplus of §1.00 on each worker hired
©  d. increase employment until the RP of labor equals §8.00.

Sawe without subrmitting Subrnit all and finish

Page: (Previous) 1 2 3 4 5 6 7 & (Mext)

@ Moodle Docs for this page

‘MyMoo(IIe » ECON211_mm33_hf18 » Quizzes » Final Quiz Summer 2008 » Attempt 1

You are logged in as Marous Matdanner dLogauly

ECON211_mma3_hf18



“You are logged in as Marcus Maddanner (Logouly
Time Remaining

1:02:04

‘MyMoo(IIe » ECON211_mm53_hf18 » Quizzes » Final Quiz Summer 2008 » Attempt 1

Update this Ouﬂ

Infa | Results | Previsw | Edit

This guiz has been locked so that it is only accessible from certain locations. Your computer is not on an allowed subnet. As teacher you are allowed to preview anyway.

Preview Final Quiz Summer 2008

MNote: This quiz is not currently available to your students

Start again

Students will see this quiz in a secure window

Page: (Previous) 1 2 3 4 8 6 7 & (Next)

21 8 The Package Store hires warkers to wrap packages. The store sells this service for §5. The marginal revenue product of this store's fitth
Marks: 1 waorker is $90. The marginal product of the fith worker is
Choose one answer. (O a. 10 packages
@ b indeterminate fram this information
O c 001 package
O d. 1 package
O e 290 packages
24 Custom Made Clothing, a small clothing manufacturer, can use either a capital-intensive or laborintensive technology to produce a
Marks: 1 product. If the price of capital increases and the price of labor remains constant, this firm most likely would
Choose one answer. ) & switch to the labor-intensive technology.
O bty to increase the productivity of capital
O c. leave the industry
O d. continue to use the capital-intensive technology and reduce the amount of output produced.
(e more infarmation about the production technology is needed
i1 The Exclusive Gift Company has a monopaly over the sale of gold hula hoops. This company is currently selling 50 gold hula hoops at a
Marks: 1 price of $5.000 each. Total costs for the company are $300,000 of which fixed costs are $100,000. You are hired as an economic
) consultant to this company. You should advise this monopolist to
Choose one answer. () a. produce in the short run and expand capacity in the long run.
O b produce in the short run but exit the industry in the long run if conditions do not change
©  c. shut down in the short run but expand capacity in the long run if conditions do not change
O d. shut down in the short ran and exit the industry in the long run.
(e produce in the shart run but increase price in the long run
24 5 Refer to the information provided in Figure 12.§ below to answer the questions that follow.
Marks: 1 3
16
n 15
K]
&
13.00
12,50
12 = MC
800 1,000 2,000 2,500
Number of cable subscribers
Figure 12.8
Refer to Figure 12.8. If the government regulates Armstrong Cable so they can earn only a nommal return, the price would be set at
Choose one answer. (O a $16.00
O b $12.50
O ¢ $1300
O d 1200
O e $15.00
258 A monopolist will not produce
Marks: 1
Choose one answer. (O a in the inelastic portion of its derand curve, where marginal revenue is negative
& b if price is less than average total cost but greater than average variable cost
O c ifmarginal revenue is declining
©  d. if price is greater than average total cost
O e if profits are negative
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% 5 Refer to the information provided in Figure 12.8 below to answer the questions that follow.
Marks: 1 5
16
P 15
H \
2 N
1300 1 -4 L - X
sl 1A - N
[ R
12 - e —————
‘MR | I'D
800 1,000 2,000 2500 Q
Number of cable subscrbers
Figure 12.8
Refer to Figurs 12.8. The type of industry pictured is a
Chanse one answer. () a. patent monapoly.
© b increasing cost industry
©  c natural manopoly
©  d profit maximizing monapaly
© e none of the above
A Perfect price discrimination
Marks: 1
Choose one answer. O a. can sliminate the deadweight loss to society of a menapaly
©  b. is an attempt by manopolists to capture consumer surplus as profit
© . is charging different pricss to differant buyers.
©  d doall ofthe above.
O e BandCame e
0 When the demand curve is a downward sloping straight line, the slape of the marginal revenue curve is
Marks: 1
Choose one answer, ) . the same as the slape of the demand curve
© b always equal to one.
© . twice as stesp as the demand curve,
© o half as steep as the demand curve
© . positive or negative depending on quantity preduced.
294 Refer to the information provided in Table 13.2 beiow to answer the questions that follow
Marks: 1 Table 13.2 B's strateg
Advertise Doa't Advertise
A's profit $100 million A's profit $200 million
Advetise Baprofit $100million B's profit $50 million
A's Stategy
Dou't Als profit $50 million Az profit $75 millien
Advedtise B's profit $200 million B's profit $75 million
Refer to Table 13.2. Firm A's dominant strategy is
Chanse one answer. () a. ta hot advertise
© b dependent on what Firm B does
© ¢ taadvettise
o d ftam this as no is provided on Firm A's risk preference
DL Refer to the information provided in Figure 13.7 below to answer the questions that follow.
Marks: 1 Dermand and cost conditions for the Chewing Gum Industry
0 12 14 16 Q
Packs of chewing gum in thousands
Figure 13.7
Refer to Figure 13.7. Firms have formed a cartel fthe cartel is maximizing profits, the cantel's prafits are
Choose one answer. () a. $1,080.
© b.$1800
O %
© o indsterminate from this information
O e$1200
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EFS Refer to the information provided in Figure 13.1 below 10 answer the questions that follow. Below are cost curves for Dom's
M Barber Shop, a monapoiistically competitive firm

Figure 13.1

Refer to Figure 13.1. If Dor's Barber Shop is maximizing proft, it is earning a profit of

Choose one answer. (O a. §350.

O b330
O c3?
O ds
© e 360
B The Specialty Cake Store, a monopolistically competitive firm is producing 200 decorated cakes per day and selling each cake for $12
Marks: 1 At that production level ATC is §25, AVC is $15, AFC is $10, and both MR and NC are $8. This firm should

Choose one answer. O a. increase output 1o the point where price equals marginal cost
©  b. decrease output o the point where marginal cost equals average cost
© ¢ produce zero cakes and just pay fixed costs
O d. continue to produce 200 cakes, as price is greater than AFC,

© e increase price to at least $15 to cover all variable costs

334 Refer to the information provided in Figure 13.6 below to answer the questions that follow.

Marks: 1 Demand and cost conditions facing Trollig's T-shirts

L 5060 a
Number of sill-screened T-shirts per day
Figure 13.6
Referto Figure 136, If Trollio's T-shirts is in equilibrium it is producing silk-gcreened T-shirts and selling each T-shirt at a
price of,
Choose one answer. (O a. B0, $15
O b2
O c 50§
O  d &0; 10
© e B §E
3 & A manopolistically competitive firm that is incurring a loss will shut down if
Marks: 1
Chaose one answer. () a. price is less than marginal cost
© b price is less than average fixed cost
© c price is less than average variahle cost
©  d. marginal revenue is less than marginal cost.
© e price is less than marginal revenue
¥
Marks: 1 The garne described helow has:
BANDITA
Swerve Tict Swerve
T 2T T =
Payoff Paycff: Payoff Baycff:
o Swerve
g 0 0 0 10
e Depain i Deperiin win
u o Pt Pgon Py
w ot Swerve
a 10 0 5 -100

Choose one answer. ) a. Only one Nash eqilibrium
O b. No Nash equilisriurn
©  c. Twa Nash equilibria, which are (Swerve, Swerve) and (Not Swerve, Not Swerve)
©  d. Twa Nash equilibria, which are (Swerve, Not Swerve) and (Not Swerve, Swerve)

e None of the above
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* For th: d bed bel
— or the game described below:
BANDITA
Swerve ot Swerve
Tepeas Fandis Tesperaio Fwiis
Payos Payore. Payost Puyoft
o) Swerve
g 0 0 0 10
o Desperads Bandis Desperada Badts
o] Payoff B, Payoff: Puyott
] ot Swerve
A 10 0 -5 -100
Choose one answer. (3 a. For Desperado and Bandita "Mot Swerve” dominates "Swerve."
& b. For Desperado and Bandita "Swerve" dominates "Mat Swerve."
O c. For Desperado "Not Swerve” is dominant; for Bandita "Swerve” iz dominant,
) d. For Desperado "Swetve" is dominant; for Bandita "Not Swerve” is dominant
O e None of the abaove
7 Afirm operating in a perfectly competitive enviranment produces the prafit maximizing quantity of G=50. The marginal cost of Q=50 is
e MC=10. The last worker hired by the firm has a marginal product of MP=5. Yhat's the wage rate paid to the worker?
Choose one answer. ¢ a.5
O bE0
O c.s00
o 410
O el
R
Marks: 1 Forthe game described below, "Stadium” will be the dominant strategy for both players if:
SAMIUEL
Opera Stadium
Vasmine Tarmd Tasmaine Tamudl
Payuff. Fayoff. Payuff: Payoff:
Opera
1 100 § T
Yasmine samud Yasmaine Samual
Payuf, Fayar. Payefr: PayorT:
R Stadi
] adium
T 5 o o
Choose one answer. & a5 +T =100
O bT28
©  c. 3<0and T>100
© d S=100
O e. None of the above.
39 £ A manopolistically competitive firm in a long run equilibrium produces Q=2 at ATC=10. Given the demand function P=100-Q, how many
M firme are in the market?
arks: 1
Choose one answer. O a. 20
O b0
O o5
o ds0
O e90
40 & Afirm operating in a perfectly competitive enviranment produces the profit maximizing quantity of @=50. The marginal cost of Q=50 is
Marks: 1 MC=10. The last worker hired by the firm has a marginal product of MP=5. How many workers does the firm hire?
Choose one answer. O a. 5
O b5D
O c.5m
o d10
e Cannot be answered withaut additional information
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